Lidingd BK
Barometer 1-kvalls

Partavling, 8 bord, 16 par

2023-01-23

. Antal brickor: 24. Medel: 168.0.

Plac Par Poéang % Namn MID Klubb
1 15 223 66.37  Olle Robin - Tord Rérhamn 12496 9418  Lidingd BK
2 12 196 58.33  Peter Gavatin - Leif Tollin 1634 8534  Lidingd FLP - Lidingd BK
3 7 186 55.36  Bo Brismar - Ronny Borjesson 47886 30554 Lidingd BK
3 16 186 55.36  Gunilla Otterstrom - Mia Nordmark 1982 33200 Lidingd BK
5 8 182 54.17  Paulina Sundin - Ake Otterstrém 54971 1957  Lidingd FLP - Lidingd BK
6 2 178 52.98 Christine Persson - Birgitta Andersson 81059 2095  Liding6 BK
7 5 176 52.38 Hans Otterstrém - Claes Nordmark 1983 33201 Lidingd BK
8 4 173 51.49 Andrzej Wojcik - Margareta Holm 19174 1950  Lidingd BK
8 11 173 51.49 Ann-Christine Montalvo - Marianne Gloudemans 17913 13037 Lidingd BK
10 10 161 47.92  Anders Petersson - Hans Léfgren 62288 46070 Liding6d FLP - Lidingd BK
10 14 161 47.92 Karin Wiedesheim-Paul - Pia Rydbeck 27587 45626 Lidingd FLP - BK S:t Erik
12 6 158 47.02 Charlotte Tornberg - Viveka Térnberg 59454 59453 Lidingd BK
13 3 149 44.35 Hakan Wingman - Monika Gronvik 11541 8337  Lidingd BK
14 1 148 44.05 Erik Norman - Stefan Pilewicz 20925 19173 Lidingd FLP - Lidingd BK
15 13 137 40.77 Dag EImér - Ulla Andersson 87314 56852 BK S:tErik
16 9 101 30.06 Hakan Malmquist - Eva Malmquist 40697 45399 Lidingd BK
1 454 2 410862 3 4105
Nord v DKn752 Ost v 96 Syd v Kn9432
Ingen ¢ EKn1098 NS ¢+ D7 ov ¢+ E10
&E #E8743 10652
4 EDKn8 4K1072 « Kn3 4974 4E963 4D2
vES8 v K1096 vKn75 v EK32 v EK7 v 105
¢ 42 *7 41098654 ¢ E32 +64 + KDKn752
#KKn643 #D1097 &DKn #965 #EKNn93 #K74
4963 « EKD5 4« KKn874
v43 vD1084 v D86
+ KD653 ¢ KKn 4983
#852 #K102 +D8
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
15 2 3¢ N= 42 110 140 00(14 3 44 N= vA 620 00| 8 3NV-2 v3 200 140 0.0
7 10 2%V +3 ¢ A -150 110 30|16 1 INS+3 ¢6 180 20| 5 12 3NV +2 v3 -660 10.0 4.0
14 3 24V +3 vQ -150 11.0 30| 8 9 34 N+1 vK 170 5.0 14 3NV +2 v2 -660 10.0 4.0
8 9 34 V+2 SA -200 6.0 80|13 4 24 N+2 ¢A 170 5.0| 16 3NV +2 v3 -660 10.0 4.0
11 6 34 V+2 ¢ A -200 6.0 80| 5 12 2NS= ¢T 120 9.0 7 3NV +3 v2 -690 3.0 11.0
16 1 34 V+2 ¢ A -200 6.0 80|11 6 INS+1 ¢6 120 9.0 11 3NV +3 v3 -690 3.0 11.0
5 12 5¢DN-2 &7 -300 20 120| 7 10 INS= ¢+ 4 90 12.0( 13 3NV +3 v3 -690 3.0 11.0
13 4 44 V= *A -420 0.0 14.0|15 2 44 N-1 vK -100 14.0| 15 3NV +3 *2 -690 3.0 11.0
4 aE7 5 4 K93 6 4964
Vast v EK1074 Nord v 82 Ost vKD1042
Alla +D9 NS ¢ Kn108652 ov +8
#E854 #KD K642
4 K106 « D94 4 E10 & D8542 4 EK875 & DKn2
v DKn6 v 83 vEKKn63 v74 v6 v E953
+385 ¢ EKKn7432 ¢ED ¢ 743 ¢107652 ¢ K4
#Kn9632 #D #E652 #1084 *E3 #DKn107
4 Kn8532 4 Kn76 103
v 952 vD1095 v Kn87
+ 106 + K9 ¢+ EDKn93
K107 &#Kn973 #985
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
8 11 3¢ O-1 v5 100 140 00| 6 13 3NV-3 +J 150 0.0 6 13 44 V-2 +8 200 140 0.0
1 3 2vN-1 ¢A -100 11.0 30| 1 3 3NV-2 +J 100 20| 8 11 44 V-1 +8 100 10.0 4.0
15 4 3vyN-1 ¢ A -100 11.0 30| 9 10 4vO-1 +K 50 6.0 | 15 4e V-1 +8 100 10.0 4.0
14 5 3¢ O= v9 -110 70 7.0|15 4 2NV-1 *T 50 6.0 | 16 4e V-1 +8 100 10.0 4.0
16 2 34 O= v5 -110 70 7.0|16 2 4v V-1 +J 50 6.0 9 44 N -1 v] -50 6.0 8.0
6 13 4¢ O= v9 -130 40 100|114 5 2v V= *K -110 10.0 | 12 34 V= +8 -140 3.0 11.0
9 10 3v N-2 ¢ A -200 10 13.0| 8 11 3v V= +6 -140 13.0| 14 34 V= +8 -140 3.0 11.0
12 7 3vy N-2 ¢ A -200 1.0 13.0(|12 7 2vV+1 *J -140 130 1 IN O +2 +9 -150 0.0 14.0
7 4« EKn85 8 4532 9 &« KKn9
Syd v EK108 Vast v 10952 Nord v 1042
Alla + 10 Ingen ¢+ D752 ov + DKn5
#Kn942 »107 #D1085
D96 a4 4EDKn7 4 4 E54 410862
v DKn6 v 9542 v EG3 v Kn87 vKn98 v ED5
¢ EK8542 ¢ DKn93 ¢+ KKn3 ¢ E9864 41098 ¢ K732
*E «KD86 %954 #8632 #EKN62 #74
4 K10732 4 K10986 « D73
v73 vKD4 vK763
+76 +10 ¢+ E64
#10753 &EKDKn K93
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
15 6 5¢ V-2 aA 200 13.0 13 8 34 O-2 A 100 1 INN= a2 90 11.0 3.0
16 3 5¢ V-2 A 200 13.0 2 4 24S-1 %9 -50 2 INN= 2 90 11.0 3.0
1 5 2¢V+1 vA -110 10.0 16 3 2#S-1 *4 -50 15 INN= 2 90 11.0 3.0
2 4 3¢ V+1 vK -130 7.0 1 5 3¢0= SA -110 16 INN= a2 90 11.0 3.0
10 11 2¢ V+2 *T -130 7.0 15 6 INV+1 v9 -120 9 lv S-1 *T -50 4.0 10.0
7 14 3¢ O+2 a2 -150 4.0 7 14 INV+3 a2 -180 10 INN-1 2 -50 40 10.0
13 8 3NV= vA -600 2.0 9 12 3NV +1 a2 -430 13 INN-1 2 -50 4.0 10.0
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9 12 3NV +1 vK -630 0.0 14.0|10 11 INDV+3 ¢2 -480 0.0 7 14 34S-2 Ly -100 0.0
10 476 11 47653 12 « DKn74
Ost v Kn76532 Syd v 653 Vast v K5
Alla ¢ Knl107 Ingen +9 NS + Kn863
&54 #E10986 *654
4DKnl10 & EK3 4 KKn10942 4ED » 86 K5
v 109 vEDS8 vK4 v 10987 v 842 v EDKNn1063
¢+ K84 + D92 ¢ 64 ¢+ EKD72 4954 ¢ E72
#KDKn72 #10963 *D74 #32 #K9872 &D3
498542 48 « E10932
v K4 v EDKn2 v97
¢ E653 ¢ Kn10853 ¢+ KD10
&E8 #KKn5 #EKn10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 6 3NO-1 4 100 120 20| 2 6 44 V-2 +9 100 140 00(14 9 24 S= v8 110 140 0.0
3 53NO-1 46 100 120 20(16 4 34 V+1 +9 -170 120 20| 3 5 4v 0-2 «A 100 120 20
10 13 3NO-1 42 100 120 20|10 13 INO+3 +8 -180 100 40| 2 6 3vO-1 s A 50 10.0 4.0
8 15 3NO= Ly -600 70 7.0|11 12 INO+4 +J -210 80 60| 1 7 34S-1 v8 -100 6.0 8.0
16 4 3NO= 49 -600 70 70| 1 7 4e V= +9 -420 40 100| 8 15 34 S-1 v4 -100 6.0 8.0
1 7 3NO+1 +3 -630 20 120| 3 5 4a V= +9 -420 40 10.0(10 13 34 S-1 v8 -100 6.0 8.0
11 12 3NO+1 49 -630 20 12.0| 8 15 44 V= +9 -420 40 100(16 4 3vO+1 s A -170 2.0 120
14 9 3NO+1 +5 -630 20 120|114 9 4ea V+2 +9 -480 0.0 14.0|11 12 4v O+1 LY -450 0.0 14.0
13 « D5 14 «E3 15 # KKn82
Nord v D752 Ost vE Syd vD2
Alla ¢+ E54 Ingen ¢ EKn82 NS ¢ KKn
#K965 #EKDKN102 #EDG653
4 Kn1042 «EK863 4 KKn765 «D1084 4 D43 4965
vK8 v EKn63 vKn74 v 10862 v EK6543 v Kn987
¢ K92 .- + D97 + K65 462 ¢ ED874
#7432 #DKn108 *64 #93 »98 »10
97 92 « E107
v 1094 v KD953 v10
¢+ DKn108763 +1043 410953
&E #875 #KKn742
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 1 24 0+3 *A -200 11.0 3.0(15 10 6% N= v6 920 140 00|15 10 5¢vDV-2 &A 300 140 0.0
11 14 4¢ S-2 s] 2000 110 30| 2 8 3NN+2 4 460 80 60| 3 7 3&aN+1 v7 130 11.0 3.0
12 13 5¢ S-2 L) 200 11.0 30| 3 7 3NN+2 &4 460 80 60|11 14 44 S= vyA 130 11.0 3.0
15 10 34 O +2 +J 2000 11.0 30| 4 6 3NN+2 &4 460 80 60| 4 6 INN+1 ¢7 120 8.0 6.0
3 7 44 0= vT -620 6.0 8.0|12 13 3NN+2 #9 460 80 60|16 5 5vV-2 2 100 6.0 8.0
2 8 44 O+1 *A -650 20 12016 5 3NN+2 &4 460 80 6.0|12 13 4v V-1 3 50 4.0 10.0
4 6 44 O+1 *A -650 20 12.0|11 14 64 N-1 48 -50 20 120| 2 8 3v V= *6 -140 1.0 13.0
16 5 44 O+1 *A -650 20 120 9 1 7#N-2 8 -100 00 140| 9 1 3v V= a2 -140 1.0 13.0
16 « KD764 17 « Kn5 18 « Kn7543
Vast v Kn52 Nord v DKn96 Ost v 1083
ov ¢- Ingen ¢ DKn1072 NS ¢ K5
#EK1073 #106 K72
4 E852 4109 &« K93 « E10874 «D8 « E106
v987 vED3 v- v EK1043 v K6 v D42
+54 + EKDKn103 + EK85 *4 +D9864 ¢10732
#D965 #82 #Kn97543 #E8 #EDKn9 #3854
«Kn3 « D62 &« K92
v K1064 v 8752 v EKn975
498762 4963 ¢ EKn
&Kn4 *«KD2 #1063
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 11 3¢0-1 ] 100 120 20| 3 9 24 O+2 +6 -170 140 00(10 2 2v S+1 #9 140 140 0.0
3 9 200-1 4] 100 120 20| 4 8 3NV= *T -400 120 20|12 15 3¢ V-1 v3 50 11.0 3.0
12 15 3¢ O-1 s 100 120 20| 5 7 44 0= *K -420 100 40|16 6 4¢ O-1 vT 50 11.0 3.0
4 8 34 N-1 *T -50 50 9.0|13 14 44 O+1 *K -450 70 70| 3 9 2¢V= vT -90 8.0 6.0
5 7 34 N-1 ¢A -50 50 90|16 6 44 O+1 *K -450 70 70| 4 8 3vS-1 +4 -100 50 9.0
10 2 34 N-1 *A -50 50 9.0|10 2 44 O+2 +9 -480 30 110| 5 7 2¢vS-1 *4 -100 50 9.0
13 14 34 N-1 ¢ A -50 50 9.0|12 15 44 O+2 v5 -480 30 11.0| 1 11 4vS-2 +6 -200 1.0 13.0
16 6 2¢ O= 4] -90 0.0 140| 1 11 64 O= v2 -980 0.0 14.0|13 14 44 N-2 *T -200 1.0 13.0
19 « KKn1062 20 « E53 21 « E854
Syd v 1043 Vast vK1097 Nord v Kn87
oV *7 Alla ¢+ E9 NS ¢ E3
+#KD108 #EKn107 K754
«E5 4983 « D2 & Kn4 4 KD1072 46
vD6 v KKn95 vD8 v EKn542 v K63 v ED5
¢ EK642 ¢ 93 + KKn108632 ¢ D74 +Kn764 ¢ KD1085
#Kn943 #E752 »84 #963 *Kn #E832
« D74 4 K109876 « Kn93
vE872 v63 v 10942
¢ DKn1085 +5 492
*6 &#KD52 #D1096
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
4 10 4aDN= 49 590 140 00| 6 8 44 N+2 vA 680 140 00|11 3 3NO-1 vT 50 140 0.0
13 1 3NO-4 +Q 400 120 20| 5 9 3NN+2 +Q 660 120 20| 5 9 3¢0+1 *6 -130 120 2.0
11 3 3¢ V-3 K 300 100 40| 4 10 44 S+1 8 650 80 60|16 7 24 V+1 »5 -140 100 4.0
5 9 24 N+1 ¢+9 140 80 60|11 3 4a N+1 9 650 80 6.0 4 10 2¢ O+3 vT -150 6.0 8.0
2 12 24 N-1 +9 -50 6.0 80|13 1 44 N+1 +9 650 80 60| 6 8 2¢ O+3 *6 -150 6.0 8.0
14 15 28 V= aT -90 30 11.0|16 7 34 S+3 ¢+2 230 40 100(13 1 2¢ O+3 3 -150 6.0 8.0
16 7 240= *7 -90 30 11.0| 2 12 3¢ V-2 vyT 200 1.0 13.0|14 15 5¢ O= *Q -400 20 120
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6 8 3aV= *7 -110 0.0 14.0|14 15 34 S+2 ¢J 200 10 13.0( 2 12 1aDN-2 +¢K -500 0.0 14.0
22 942 23 ~E8 24 & KKn93
Ost v DKn84 Syd vKn2 Vast vKn73
oV + K4 Alla ¢ ED52 Ingen + D43
#KKn82 #K10532 #875
«Knl1065 «D3 «D1094 «KKn6 476 + 1084
vE1062 v973 v1098 vKD764 vKD2 v E10985
¢E3 ¢ DKn62 ¢8763 ¢K4 ¢ E85 ¢ K1072
#1097 *EDG64 «D4 »E86 #EKKN94 &2
« EK87 #7532 «ED52
vK5 vES53 v 64
4109875 + Kn109 + Kn96
53 #Kn97 «D1063
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 9 2NV-1 «2 100 140 00| 3 13 3« N= A 110 100 40| 7 9 2vV+2 43 -170  13.0 10
3 13 Pass 80 6.0| 5 11 3#N= vK 110 100 40|15 1 2vV+2 &7 -170 13.0 1.0
5 11 Pass 80 60|12 4 2&4N+1 vK 110 100 4.0| 5 11 2v V+3 *8 -200 8.0 6.0
14 2 Pass 80 6.0|15 1 2&4N+1 vK 110 100 40| 6 10 2v V+3 3 -200 8.0 6.0
15 1 Pass 80 6.0|16 8 3#N= vK 110 100 40|16 8 2v V+3 8 -200 80 6.0
16 8 Pass 80 6.0 7 9 2v0= a2 -110 40 10.0|12 4 3v V+3 v7 -230 4.0 10.0
6 10 INV= vQ -90 20 120| 6 10 INO+1 +J -120 20 12.0| 3 13 4v V= 43 -420 1.0 13.0
12 4 INO+1 *T -120 0.0 14014 2 2vO+1 &J -140 00 14014 2 4v 0= *6 -420 1.0 130
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